RLC & AC circuits
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Announcements

 Reading for Wednesday: 29-5 to 29-6

 Exam pickup: Wednesday
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| C Circuits:
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* Oscillations decay
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E(t) = Emax sin wt
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AC circuits
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T Voltage Law (KVL):



Phasors

e No one uses them... Phasor Diagram
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Phasors

e No one uses them...

V(t) = Emax sin wt

* y-axis projection of
the vector
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Overview of circuit
components: Reactance
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Resistor

Phasor Diagram
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Capacitor

Phasor Diagram X v (¢) tags 1,.(¢) by 90°
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'nductor

Phasor Diagram
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Putting it all together...

Current & sin(wt)
[=1_sin(wt—g)
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e Unknowns:
Imaxa ¢




Putting it all together...

e Unknowns:

Imax; @
Phasor f"agram * Choose unknowns such
that;
VR + ‘7(; = ‘7L =&
* Result:
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